Maths IB;

Test 1

Revision (factorisation, identities,

Wednesday 18.9.2024

Problem 1 Simplify the following expression

VYIS _6vV2+3V2
DR =g V2

Problem 2 Solve the second degree equations

1) 222 — 32 —2=0

2) 322 — 192 +6=0

1) 2logs(z —1)=log4(16)
2logy(r —1)=2
logg(x —1)=1
r—1=4 =|x=5

3) logy((z—2)%)=3

log4(x—2):%
3
r—2=42=(/4)3=23=8
xr =10

5) log3(x) — Tlogs(z) + 6=0
?—171+6=0
A=25 =122 [z=300rz=3]

Problem 4 Solve the following equations
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1)

2) V2r 8 =327+

A =25 S:{zﬁ}:{—%ﬂ}
A =289 S={19§17}:{§,6}

Problem 3 Solve the following logarithmic equations [

expansion, roots ...) Answers
[ /8marks]
2++/2)%— (2—/2)?
[ /8marks]
/ 12 marks |

2) loga(x —4) +loga(z+4)=3
(x—4)(z+4)=2°
7?—16=38

r=+/24=26

4) log7(14x) —log7(z —5) =2

(145 -2

;Li =T72=49 140=49(z —5)
=T
6) logs(22% — 3z +2) =2
202 —3x4+2=4
202 —3x —2=0 A =25
assaw in Probll (1):2 = —5 oraz =2
but 2 is not accepetd then | = —
[ /12 marks]

2-Z T
—=8=4"7=64 =2-5=3 =[z=-2]

r—8
— 5(x+1 r—8
2> _2(+): 2 =5z 5


BB



